Q

T KEHLEICET HERAE(RIER D ERER)

xiE  BR.LER

BRBERDES SUERI D FRLE

B AT & B 145AN0604

5] it £ HI;RC

Pt = h BN LR E B AR
S - S 5 B L iRELE KA

17200 000 | =& Do G R B 1/26,000
T T . N v 7 g [ 7 5 s 0. ¢ URNRE s

2w

*EE/R H(s 1:200,000) 51 B B (s=1:25,000)

= + #h IR D B F i #2 K200000[ — B8 | K N EF i 2 K 25000[ A & 1155, £FIE



REMBLOFEREXENE

BH3—1 BEOEITNOHELH. ELLVEENSTNOHELHORER EEETIE 202441
EE S o F B BmEs | ool | Bws T7C [ maw i ZTiR
N
1:2,500

0 50 100 m

N 22020
m L HRT IR BEOBENOBELIORS TREOBHIZES N 100kN,/ MEHEA HIE

AR/ — ELLEEOBZhOBILHOKS: ] +BZ0#REN InERL S

EER



RO IR R R E

HR3—2 BEYIERTILEESNAEEICETSEE REFEE | 20244E)E
RO NEs | Bmes TI5AN0G0T Bm% | RC [ e | B LR E B RN
) SENMO TiRICHEET S SfERHA
ﬁ%&g TREOBBOESILADKRES TREDOHEBSSLODKRES TREOBBOEILADKRES TREDHFESSLNIDOKRES
= = DV B DV Al = = BV = DV = =
&= X 4 .(Er,na!)r -Fiﬁﬁb(:)a)ﬂﬁﬁﬁ jj(giff)é X 4 -Fiﬁ’ﬁﬁgg‘g(orzikq: .215 jj(gzlgcf)é X 4 .(Er,na; J:Jﬁﬁb(z)o)ttlal jj(lfilf’f)é X 4 Llﬁﬁf)(z)@ttﬁ ?né){ jn(gigcn%é
; 100kN/m##2%| 1.00 | 0.00 ~ 1.51 123.03 |3m%EiEZ% -~ — — — | 100kN/mM%#BZ5 | 1.00 | 1056 ~ 1580 123.03 |3m&EEZ5 - -~ — — —
ZThLS 1.00]1.561 ~ 930 100.00| Ths |0.00 ~ 9.30| 233 12.48 Th LSt 1.00 | 6.00 ~ 1056 100.00| ZhRS | 500 ~ 1580|233 12.48
2 100kN/m# 25| 1.00 | 0.00 ~ 1.22| 11837 |3m&#BAb — ~ — — — | 100kN/mMZ#BZ 5| 1.00 | 1230 ~ 19.05| 11887 |3m&EEZ5 -~ — — —
Th LS 1.00] 122 ~ 9.00| 100.00| Ths |0.00 ~ 9.00|212 11.38 Zh LS 1.00]56.00 ~ 1230 100.00| ThLS | 600 ~ 1905|212 11.53
3 100kN/m##8x5| 1.00 | 0.00 ~ 1.32| 120.08 |3m%#BZ5 — ~ — — — | 100kN/mM##8%% | 1.00 | 1096 ~ 1520 120.08 |3m%E#BZ3 -~ — — —
Th LS 1.00 | 1.32 ~ 9.11 100.00 | #nst | 0.00 ~ 911|254 13.60 Zh LS 1.00]5.00 ~ 1096 100.00| TS | 5,00 ~ 1520 2.64 13.60
4 100kN/m# 25| 1.00 | 0.00 ~ 1.35| 120.55 |3m&{BZ5 — ~ — — — | 100kN/mM##Z% | 1.00 | 1059 ~ 1520 120.55 |3m%E#BZ3 -~ — — —
Th LS 1.00]1.35 ~ 9.14| 100.00| Ths | 000 ~ 914|232 12.40 Zh LS 1.00]5.00 ~ 1059 100.00| ThLS | 600 ~ 1520|232 12.40
5 100kN/m# 25| 1.00 | 0.00 ~ 1.04 115.68 |3m%iEZ % — ~ — — — | 100kN/mMZ#BZ 5| 1.00 | 11.02 ~ 1483| 115.68 |3m&EEZ5S -~ — — —
Th LS 1.001.04 ~ 883| 100.00| Tns |0.00 ~ 883|206 10.95 Zh LS 1.00]56.00 ~ 1102 100.00| ThLS | 600 ~ 1483| 2.05 10.95
100kN/mM#%# 8% % ~ ImEHBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Th LS ~ ZhLS ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ zhLlst ~ ThLs ~
100kN/m#%#BZ % ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ ZhLlst ~ Ths ~
100kN/m#%#BZ % ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ ZhLlst ~ Ths ~
100kN/mM##BZ 5 ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ ZhLlst ~ Ths ~
100kN/mM#%#BZ % ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ ZhLs ~ ZhLlst ~ Thsh ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZhLsh ~ ZhLs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZhLs ~ ZhLs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
ZhLs ~ Zhs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
ZhLs ~ ZHhLUS ~ ZhList ~ Zhst ~

B
H
&



